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AP Calculus Equations of Lines Review
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Directions: Write all equations in point-slope form. slope-intercept form and standard form!!

The slope of the line passing through (6, ~2) and
(6.8) is

The slope of a line perpendicular to the line
passing through the points (1.3) and (=2,1) is

The equation of the line through (2, 3) and parallel
t0 the line y = 2r+3 is:

The equation of the line through (~3.2) and
(3.-3) is:
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The x-intercept of the line given by 2y — 3 =
is

The equation of the line through (~1.~4) and
parallel to 4x—2y =1 is

Find the equation of the line perpendicular to the
line y = 3x+2 and passing through (3, =3).

The equation of a straight line passing through the
point (6,0) and with slope —3 is

Which is an equation of the line that passes
through the point (1.4) and has a slope of 37
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The x-intercept of the line given by 3y +2x =
is:

The equation of the line through (3.4) and
perpendicular to the line y = 4x — 6 is:

Consider the equation ~3x + 5y = ~15. Which of
the following points lie on its graph?

B. (-5.0) c (G.-9H

D. all of these points

13.

1.

1.
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Write an equation of the line whose slope is 2 and
whose y-intercept is ~3.

What is the equation of the line that has a slope
of 4 and passes through the point (3, ~10)?

The graph of a line contains the point (3.2) and
has a slope of 4. What is the equation of the line?




